AQA Level 2 Further mathematics Further algebra

Section 1: Equations

Section test

In Questions 1 to 4, solve the equations.

1) 3x+2=x-5
(@ x=-7 (b) x=-3.5
(c)x=-3 (d)yx=-15

(e) I don’t know

2) 1-x=5x-3
@) x=3 (b) x=%
(c)x=1 (d) x=-1%

(e) I don’t know

3) 1-2(y+3)=5(2-Y)

@y=1 (b)y=2
©y=% (dy=5
(e) I don’t know

p 2-2_1-2
3 2

@a=14 (b)a=-7

(c)a=-1 (da=0.2

(e) I don’t know

5) A football club has played 15 matches so far this season. They score 3 points for a
win, 1 point for a draw and 0 points for a loss. They have lost 4 matches, and their
points score is 27. How many matches have they won?

(a) 3 (b) 4

(c)8 (d) 11
(e) I don’t know
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6) The solutions of the equation x2+2x—-5=0 are

(a) no real solutions (b) -1+/6
(c) -1+12 (d) —1+/24

(e) Idon’t know

7) The solutions of the equation 2x2—11x+15=0 are

(@) no real solutions (b) 1.5and 5
(o LEv24 11+¢\/24 (d)2.5and 3
4

(e) I don’t know

8) The solutions of the equation 3x2—2x+4 =0 are

(@) no real solutions (b) 2and 2

1+f n 1+\F

(©)

(eI don t know

9) The solutions of the equation 2x2+ 5x —4 =0 are

@ Sif’? f
() 22> if_? (d iﬁ

(e) I don’t know

10) A rectangle has length (3x — 1) cm and width (x + 3) cm. The area of the rectangle
is 65 cm2, What is the value of x?

(a) 3.61 or -6.28 (b) 3.61

(c) 6.28 (d) -3.61 or 6.28
(e) Idon’t know
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Solutions to section test
1) The corvect answer is (b)

3X+2=x—-5
2X+2=-5
2x=—F
X=-35

2) The correct answer is (b)

1—Xx=5x—3

1=6x—23
4 =06x
X=3%

3) The correct answer is (o)

1-2Ay+3)=5(2-y)
1—2&—6210—53
2Yy-5=10-5Y4
3y-5=10

3y =15

Yy=5

4) The corvect answer ts (a)

54-4=3
5a=%
a=1.4

5) The correct answer is (¢)

Let w be the number of matehes they have won,
They have played 15 and Lost 4, so the number of draws =15 -4 —w

=11 -—-w

30f5

11/06/13 © MEI



AQA FM Further algebra 1 section test solutions

Total polnts scored = 3w + (14 —w)

=3w+1dL—w
=2w+11
Therefore 2w +11 = 27
2w =16
w=g

Tlneg have won € matches.,

&) The corvect answer ts (b)

X H+2x-5=0
a=1, b=2, c=-5

_ 2t2% —4x1x-5
2X1

_—2+24

X

2
—2+J4xJe

F#) The correct answer is (o)

2X° —11x+15 =0
X -5 x—6x+15=0

x(2x—-5)-3(2x-5)=0
(x—3)(2x—-5)=0

_ 5
X=3 or %

g) The corvect answer is (&)

2xX°—2x+4=0
a=3, b=-2, c=4

U* —4ac=(—2)° —4x3X4=4—-42=—44
There are no real solutions,

9) The correct answer is (¢)
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X+ E5x—4=0
a=2, b=5, c=—4

x—_5i’/57 -5t 57
4

2X2

10) The corrvect answer ts (b)

The area of the vectangle is (3x—1) (x +3)
(Bx-1)(x+3)=065

X +8X -3 =065

BX*+8X—68=0

e —2 £4/87 —4x3x 68
2x3
_ —g+.%0

Z
=3.610r —6.28
Since the lengths of the stoles must be positive, x = 3.61.
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